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TaMuasH gByynax Tyxaft.

TYIAAX Hb:

Hor. YnacHGaaTeop XOTHH T999 OHH IaaMuH HACAHN XYporumaliH
gBEPTE warTHpFyiaX ToMHBBHEMT T999 OHN B-p capHE T5-2T-HH
empyymax Huficronufih GonoBppoNHH TeBE sByyncyraf.

Xo€p, Tommoanuft Tamupwum,myyrannity marHany 30puynaH 31‘91590‘

Tepperaﬁ: CIIOPTHH apra x®mssHuft sapmraaec rapraxur Ha-6o
Cl.HapaHususr-r 3eBmeopcyYrsft.

T'ypeB. Tomisanu#t ToCBAPI HOTMYIDop, THMIDSHART 30XUOH

AByynax wyyranuite d&pSHHSXYYHmﬁr Xo8pnyTaap xaBcp&nTaap Tye
TyCc Garancyraft, !

JlepeB. ToMmussHafir Y357 cypras 30XMOH CaftryyngnTHH oHmep
HOMKIOHN AByynaxHT myyYIwuf#tH seBneny maanracyraft.
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I. [YPoBIOPK yne e/myyre  MJIHB
2. Jo8mmopx yue H/6 HET
3. MArMapcYpaH yne myyra Jf-Bu-Cu
4. HamsgHNODX yne - TYal
5. [airas yne =" CBI
L 4
»
Bonosepyyncal WW C.JypaBIopx
I+




Har. TommasHu Toces.

I. TamupumHH marHan

I-p Gaftp 2 x 8000 Ter = IA000 Ter
2-p Gafip 2 x 6000 Tor = I2000 Ter
3-p Gaftp 2 x 5000 Ter = I0000 Ter

oYrnm = BBOOO‘Ter

2. Myyrunu#ty maruay

5 x 7 x 2000 Ter =~7000d ToT

0yrm myH = IT74500 Ter
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I-p xaBcpant.

|

¥

*

Garutt
I-p Gafip T X 3000 =3000

2-p Gaftp I x 2000 =2000
3-p Gaftp T x I500 =I500

8YTR = 6500 Ter




